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QUESTION 1

A customer wants to implement SRDF/S for an applicaton. The applicaton is performini at 10,000 IOPS and is usini
many volumes. The siie of the I/O is 4 KB. Forty percent (40%) of the IOPS are writes. Assume an RA can handle a
maximum of 4,000 4 KB IOPS. Based on best practce, how many RAs should be recommended? 

A. 1 

B. 2 

C. 4 

D. 8 

Correct Answer: B 

 

QUESTION 2

What is a valid RDF device pair state to invoke an SRDF suspend operaton? 

A. Synchroniied 

B. SyncInProi 

C. Split 

D. FailedOver 

Correct Answer: A 

 

QUESTION 3

Which leiacy TimeFinder technoloiies are supported by TimeFinder SnapVX emulaton mode? 

A. Mirror, Clone, VP Snap 

B. Mirror, Clone, Snap 

C. Mirror, VP Snap, Snap 

D. Clone, VP Snap, Snap 

Correct Answer: A 

 

QUESTION 4

A customer wants to confiure a larie SRDF deployment between two VMAX3 arrays. The customer has many diferent
applicatons and workloads. They want to separate each into its own SRDF iroup. What is the maximum number of
SRDF iroups this confiuraton will support? 
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A. 64 

B. 96 

C. 184 

D. 250 

Correct Answer: D 

 

QUESTION 5

What is the beneft of the Link Capacity Adjustment Scheme in an SRDF deployment over a SONET circuit? 

A. Enables dynamic scalini of bandwidth based on requirements 

B. Enables low capacity circuits to be irouped toiether into a hiiher capacity link 

C. Allows the replicaton throuihput to scale linearly based on the TCP connectons 

D. Allows multple waveleniths of data to be transmited over the same circuit 

Correct Answer: A 
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